E/UGY£ D/TAM 203 Spring 2006
Solutron séy D enuie \/dff

2,86,2 Z/[ o Femcs bedl /s Q/HVP/&/ ]ﬂr‘m @ waf'la‘ ?l/ao,h

and L bomces riore than E3 ia. ond lese Hhan
5& . Whatf 1's dne rovage 0/ e ?

B e
_Dal(/lf/:zf% :
i A
ih |
3
¥
h:; A ,::' : P

C/ﬂl«v{ é&fm collysion ’ Ve I’@M‘ afw’er
i

_ ? |
v ’ |
, )
/1/07& < 7Zlg ’/8&1»'1(‘5 b«zé( [0!(/0/@6 oty ;&@jf\d&wd
in (=] direction | Before He collision

Zhe WWC(}‘/ ob tae balt ‘5 /U:/'j\)) o

a/f—h&r« W col (/s (o , 747/‘@ 4/6’/0(’1:79 zr% /LLe ball

s z}/\ . The vdod/w‘y lezhujfdum/ 'S —5

betore s d 4f7‘@r the Co ltieiomn .




(-\)

2 .
)'Azué, o ('j\) CJV@&#‘!’WZ y '

O -0,

—————————————

£ = -
v p-deg Y

@Zm a.,c/J (figr |
Pr-0" = 2(-9)h)
> /Ul = /‘)iﬁ hy
O‘l"“ (U;a = 2/"3 ))/vz
= D2 = 2Tk,

e s

7&%, E = %’%L = ’Lﬂ,‘,‘
\

N - _
5 3 S%in
1\[’,‘5’6’57.4 ¢ = ‘\j;oo 7

Thotis ﬁ?z%s 0 < 0762




5

=.%.3

/7’ 5‘0670 “/ém SZ/('V P/aws /‘Mlg J/{’lxe récer of A&~ 2200/5,,,

Spirtscar. ©=0. Juet deforo Hhe collizim Hae

SUV was moipg af 20 pli cond Hle spod= car
LI s {,’f&«{‘fd‘ﬂt’u}y . I

Tlee entive collision Afakes
0.3 s .

G) Awhat are die dave wehicles’ §Fed§

/;wmeJl'afe/y
/vféﬂr‘ Ae C,o[h»r(}"m, ?

6#&#,547 L&/[m% Co [(,',f,_(,i’“ « ﬂfv‘v/r CO//(:;’H:-”'V)
m:‘«uv Mg, e, <( Msuwy “';nm;;%w
S 0 O .’ O O
% G_? U :O | _T> !
Usuv S.C, f Vsuy Vs'e,

’ Ay’ J ,
0 = Us.c. = Vsuy (Usl.c.'@;uu -0
‘ /.o
/USuv - [Us uv

/ /
'—'—'@ (Us.c. - stuv
—

Tm, MC{/'[‘(M, ‘/he :f‘O“/'aI /’/hﬂm@ﬂ('wh w/., '/h-@ 5/5 feerr (<

Conserved /e, 3

—\
— —_ , —
msuv q)&(l/ t MG.C.}}S,{ = Msuv @Suv T mS.C.KUS,c.

A~
= MS‘I&V Vsw U = M sy {U%LV@ + W /ysc {\ [%>




4.
(%) ° i\ Q> )/)/)5’11("\/ Q)SZ{V - VWS%VKU,V:W + m.s.c, 7/5?(.

-:“:::‘") }/l/lsruv(Usm/z mwtv(z/s':w”“ Ms.c. Wémv

=

PS N
|

o

~

<

:: (U / — MSMV
SUv
Msuv + M., (US%V

= _ 5000 thim f32.285) op
(5000 4+ 2200 G flneter) 20 mph,

Epoo
72,00

~ 3.9 ek = 20,37 i

—-—
e

2.0 tM/le

Thus t V!, = @s/m, = 20,37 {’%
—

A) %[wf‘ %/'me*al/emg& accelorative loads do Hle oo veliicleg

Lxperience. 7

Selut sn ‘C,z _ YVs'wv ~ Vsyy _ 2037 ftg — 20 mphx l-‘*é?%% ~
Suv A_t - O'gs z-‘zq.yy%z
Z = Qi =Vse 20,37 fefs - O 145
o G o : - = 6F.9 4,

0.3

|




